

SUM FORMULA FOR MULTIPLE ZETA FUNCTION

MINORU HIROSE, HIDEKI MURAHARA, AND TOMOKAZU ONOZUKA

ABSTRACT. The sum formula is a well known relation in the field of the multiple zeta values. In this paper, we present its generalization for the Euler-Zagier multiple zeta function.

1. INTRODUCTION

The Euler-Zagier multiple zeta function (MZF) is defined by

$$\zeta(s_1, \dots, s_r) := \sum_{1 \leq n_1 < \dots < n_r} \frac{1}{n_1^{s_1} \cdots n_r^{s_r}},$$

where $s_i \in \mathbb{C}$ ($i = 1, \dots, r$) are complex variables. The number of the variables r is called the depth of $\zeta(s_1, \dots, s_r)$. Matsumoto [3] proved that the series is absolutely convergent in the domain

$$\{(s_1, \dots, s_r) \in \mathbb{C}^r \mid \Re(s_1 + \dots + s_r) > r - l + 1 \ (l = 1, \dots, r)\}.$$

Akiyama, Egami, and Tanigawa [1] and Zhao [6] independently proved that $\zeta(s_1, \dots, s_r)$ is meromorphically continued to the whole space \mathbb{C}^r . Furthermore, all possible poles of $\zeta(s_1, \dots, s_r)$ are located on $s_l + \dots + s_r \in \mathbb{Z}_{\leq r-l+1}$ for $l = 1, \dots, r$. Note that some possible poles are known not to be actual poles, but we do not use this fact in this paper (for details, see [1]).

The special values $\zeta(k_1, \dots, k_r)$ with $k_1, \dots, k_{r-1} \in \mathbb{Z}_{\geq 1}$ and $k_r \in \mathbb{Z}_{\geq 2}$ are called multiple zeta values (MZVs). The MZVs are real numbers and known to satisfy many kinds of algebraic relations over \mathbb{Q} . One of the most fundamental relations is the sum formula:

Proposition 1.1 (Sum formula; Granville [2], Zagier). *For positive integers k, r with $k > r$, we have*

$$\sum_{\substack{k_1 + \dots + k_r = k \\ k_1, \dots, k_{r-1} \geq 1, k_r \geq 2}} \zeta(k_1, \dots, k_r) = \zeta(k).$$

From the analytic point of view, Matsumoto [4] raised the question whether the known relations among MZVs are valid only for positive integers or not. It is known that the harmonic relations, e.g., $\zeta(s_1)\zeta(s_2) = \zeta(s_1, s_2) + \zeta(s_2, s_1) + \zeta(s_1 + s_2)$ are valid not only for positive integers but for complex numbers. Matsumoto and Tsumura [5, Proposition 2.1] gave a relation which is a generalization of Proposition 1.1 with $r = 2$. This relation consists not only of the MZFs but also of the Mordell-Tornheim multiple zeta functions. Based on such circumstances, we give a generalization of Proposition 1.1 for the MZF.

2010 *Mathematics Subject Classification.* Primary 11M32.

Key words and phrases. Euler-Zagier multiple zeta function, Multiple zeta values, Sum formula.

Theorem 1.2. For $s \in \mathbb{C}$ with $\Re(s) > 1$ and $s \neq 2$, we have

$$\sum_{n=0}^{\infty} (\zeta(s-n-2, n+2) - \zeta(-n, s+n)) = \zeta(s).$$

Theorem 1.2 is a generalization of Proposition 1.1 with depth $r = 2$. This can be generalized to the arbitrary depth (see Theorem 1.7).

Definition 1.3. For a non-negative integer a and a positive integer b , we define $G_{a,b}(s_1, \dots, s_a; s)$ inductively by

$$\begin{aligned} G_{a,1}(s_1, \dots, s_a; s) &:= \zeta(s_1, \dots, s_a, s), \\ G_{a,b}(s_1, \dots, s_a; s) &:= \sum_{n=0}^{\infty} G_{a+1,b-1}(s_1, \dots, s_a, s-n-b; n+b) \\ &\quad - \sum_{n=0}^{\infty} G_{a+1,b-1}(s_1, \dots, s_a, -n; s+n), \end{aligned}$$

where s_1, \dots, s_a, s are complex numbers such that $\Re(s) > b$, $\Re(s+s_a) > 1+b, \dots, \Re(s+s_a+\dots+s_1) > a+b$.

Remark 1.4. The convergence will be proved in Lemma 3.4.

Example 1.5. We show some examples of $G_{a,b}(s_1, \dots, s_a; s)$:

$$\begin{aligned} &G_{a,2}(s_1, \dots, s_a; s) \\ &= \sum_{n=0}^{\infty} \zeta(s_1, \dots, s_a, s-n-2, n+2) - \sum_{n=0}^{\infty} \zeta(s_1, \dots, s_a, -n, s+n), \\ &G_{a,3}(s_1, \dots, s_a; s) \\ &= \sum_{n_1=0}^{\infty} \left(\sum_{n_2=0}^{\infty} \zeta(s_1, \dots, s_a, s-n_1-3, n_1-n_2+1, n_2+2) \right. \\ &\quad \left. - \sum_{n_2=0}^{\infty} \zeta(s_1, \dots, s_a, s-n_1-3, -n_2, n_1+n_2+3) \right) \\ &\quad - \sum_{n_1=0}^{\infty} \left(\sum_{n_2=0}^{\infty} \zeta(s_1, \dots, s_a, -n_1, s+n_1-n_2-2, n_2+2) \right. \\ &\quad \left. - \sum_{n_2=0}^{\infty} \zeta(s_1, \dots, s_a, -n_1, -n_2, s+n_1+n_2) \right). \end{aligned}$$

Remark 1.6. We note that $G_{a,b}(s_1, \dots, s_a; s)$ is a sum of MZFs of depth $a+b$.

Theorem 1.7. Let b be a positive integer. For $s \in \mathbb{C}$ with $\Re(s) > b$, we have

$$G_{0,b}(s) = \zeta(s).$$

Remark 1.8. If $s \in \mathbb{Z}_{>b}$, $G_{a,b}(s_1, \dots, s_a; s)$ is equal to

$$\sum_{\substack{m_1+\dots+m_b=s \\ m_1, \dots, m_{b-1} \geq 1 \\ m_b \geq 2}} \zeta(s_1, \dots, s_a, m_1, \dots, m_b)$$

by definition. Thus the case $s \in \mathbb{Z}_{>b}$ of the theorem implies Proposition 1.1.

2. PROOF OF THEOREM 1.2

Let $\sigma := \Re(s)$ and $\sigma_i := \Re(s_i)$ for $i \in \mathbb{Z}_{\geq 1}$. The proof of Theorem 1.2 is divided into two parts. For $\sigma > 2$, we use series transformation. For $\sigma > 1$, we prove the theorem by showing the regularness of the infinite series on the left-hand side and using analytic continuation.

Proof of Theorem 1.2 for $\sigma > 2$. Since the functions $\zeta(s - n - 2, n + 2)$ and $\zeta(-n, s + n)$ are absolutely convergent in $\sigma > 2$, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} (\zeta(s - n - 2, n + 2) - \zeta(-n, s + n)) \\ &= \sum_{n=0}^{\infty} \sum_{0 < m_1 < m_2} \left(\frac{1}{m_1^{s-n-2} m_2^{n+2}} - \frac{1}{m_1^{-n} m_2^{s+n}} \right) \\ &= \sum_{n=0}^{\infty} \sum_{0 < m_1 < m_2} \left(\frac{m_1}{m_2} \right)^n \left(\frac{1}{m_1^{s-2} m_2^2} - \frac{1}{m_2^s} \right) \\ &= \sum_{0 < m_1 < m_2} \frac{1}{m_2^2 - m_1 m_2} \left(\frac{1}{m_1^{s-2}} - \frac{1}{m_2^{s-2}} \right). \end{aligned}$$

Here we note that interchanging the order of summations $\sum_{n=0}^{\infty}$ and $\sum_{0 < m_1 < m_2}$ is valid because the last sum is absolutely convergent in $\sigma > 2$. Since

$$\begin{aligned} \sum_{0 < m_1 < m_2} \frac{1}{m_2^2 - m_1 m_2} \frac{1}{m_1^{s-2}} &= \sum_{0 < m_1} \frac{1}{m_1^{s-2}} \sum_{m_1 < m_2} \frac{1}{m_2^2 - m_1 m_2} \\ &= \sum_{0 < m_1} \frac{1}{m_1^{s-2}} \sum_{m_1 < m_2} \frac{1}{m_1} \left(\frac{1}{m_2 - m_1} - \frac{1}{m_2} \right) \\ &= \sum_{0 < m_1} \frac{1}{m_1^{s-1}} \left(1 + \frac{1}{2} + \cdots + \frac{1}{m_1} \right) \end{aligned}$$

and

$$\begin{aligned} \sum_{0 < m_1 < m_2} \frac{1}{m_2^2 - m_1 m_2} \frac{1}{m_2^{s-2}} &= \sum_{1 < m_2} \frac{1}{m_2^{s-1}} \sum_{0 < m_1 < m_2} \frac{1}{m_2 - m_1} \\ &= \sum_{0 < m_2} \frac{1}{m_2^{s-1}} \left(1 + \frac{1}{2} + \cdots + \frac{1}{m_2 - 1} \right), \end{aligned}$$

we have

$$\sum_{n=0}^{\infty} (\zeta(s - n - 2, n + 2) - \zeta(-n, s + n)) = \sum_{0 < m} \frac{1}{m^s} = \zeta(s).$$

Then we find the result. □

Next, we prove Theorem 1.2 for $1 < \sigma \leq 2$.

Lemma 2.1. *For $s \in \mathbb{C}$ with $s \neq 2$ and $\sigma > 1$, and $\alpha \in \mathbb{C}$ with $\Re(\alpha) > 1$, the analytic continuation of $\zeta(s - \alpha, \alpha)$ can be given by*

$$\zeta(s - \alpha, \alpha) = \sum_{0 < m_1} \frac{1}{m_1^{s-\alpha}} \sum_{m_1 < m_2} \left(\frac{1}{m_2^\alpha} - \int_0^1 \frac{dt}{(m_2 - t)^\alpha} \right) + \frac{\zeta(s-1)}{\alpha-1}.$$

Proof. Since

$$\frac{1}{m_2^\alpha} - \int_0^1 \frac{dt}{(m_2 - t)^\alpha} = O\left(\frac{1}{m_2^{\alpha+1}}\right) \quad (m_2 \rightarrow \infty),$$

the first term on the right-hand side converges absolutely for $\sigma > 1$. Furthermore, if $\sigma > 2$, we have

$$\begin{aligned} & \sum_{0 < m_1} \frac{1}{m_1^{s-\alpha}} \sum_{m_1 < m_2} \left(\frac{1}{m_2^\alpha} - \int_0^1 \frac{dt}{(m_2 - t)^\alpha} \right) \\ &= \sum_{0 < m_1} \frac{1}{m_1^{s-\alpha}} \left(\sum_{m_1 < m_2} \frac{1}{m_2^\alpha} - \int_{m_1}^\infty \frac{du}{u^\alpha} \right) \\ &= \zeta(s - \alpha, \alpha) - \frac{1}{\alpha - 1} \zeta(s - 1). \end{aligned} \quad \square$$

We denote by $[t]$ the greatest integer less than or equal to t .

Lemma 2.2. *For $s \in \mathbb{C}$ with $s \neq 2$ and $\sigma > 1$, and $\alpha \in \mathbb{C}$ with $\Re(\alpha) > 1$, we have*

$$\zeta(s - \alpha, \alpha) = - \sum_{0 < m} \frac{\alpha}{m^{s+1}} \int_0^\infty \left(\frac{m}{m+t} \right)^{\alpha+1} (t - [t]) dt + \frac{\zeta(s-1)}{\alpha-1}.$$

Proof. We have

$$\begin{aligned} \frac{1}{m_2^\alpha} - \int_0^1 \frac{dt}{(m_2 - t)^\alpha} &= \int_0^1 \left(\frac{1}{m_2^\alpha} - \frac{1}{(m_2 - t)^\alpha} \right) dt \\ &= - \int_{0 < u < t < 1} \frac{\alpha}{(m_2 - u)^{\alpha+1}} du dt \\ &= - \int_0^1 \frac{\alpha(1-u)}{(m_2 - u)^{\alpha+1}} du. \end{aligned}$$

Thus we have

$$\begin{aligned} \zeta(s - \alpha, \alpha) &= - \sum_{0 < m_1} \frac{1}{m_1^{s-\alpha}} \sum_{m_1 < m_2} \int_0^1 \frac{\alpha(1-t)}{(m_2 - t)^{\alpha+1}} dt + \frac{\zeta(s-1)}{\alpha-1} \\ &= - \sum_{0 < m_1} \frac{\alpha}{m_1^{s+1}} \sum_{m_1 < m_2} \int_0^1 \left(\frac{m_1}{m_2 - t} \right)^{\alpha+1} (1-t) dt + \frac{\zeta(s-1)}{\alpha-1} \\ &= - \sum_{0 < m_1} \frac{\alpha}{m_1^{s+1}} \sum_{m_1 \leq m_2} \int_0^1 \left(\frac{m_1}{m_2 + t} \right)^{\alpha+1} t dt + \frac{\zeta(s-1)}{\alpha-1} \\ &= - \sum_{0 < m} \frac{\alpha}{m^{s+1}} \int_0^\infty \left(\frac{m}{m+t} \right)^{\alpha+1} (t - [t]) dt + \frac{\zeta(s-1)}{\alpha-1}. \end{aligned}$$

This finishes the proof. □

From the previous lemma, we have

$$\frac{\partial}{\partial \alpha} \zeta(s - \alpha, \alpha) = -H_1(\alpha) + \alpha H_2(\alpha) - H_3(\alpha),$$

where

$$\begin{aligned} H_1(\alpha) &= \sum_{0 < m} \frac{1}{m^{s+1}} \int_0^\infty \left(\frac{m}{m+t} \right)^{\alpha+1} (t - [t]) dt, \\ H_2(\alpha) &= \sum_{0 < m} \frac{1}{m^{s+1}} \int_0^\infty \log \left(\frac{m+t}{m} \right) \left(\frac{m}{m+t} \right)^{\alpha+1} (t - [t]) dt, \\ H_3(\alpha) &= \frac{\zeta(s-1)}{(\alpha-1)^2}. \end{aligned}$$

Lemma 2.3. *Assume that $s \in \mathbb{R}$ and $1 < s < 2$. Then, for $\alpha \in \mathbb{R}_{>1}$, we have*

$$H_1(\alpha) = O\left(\frac{1}{\alpha^s}\right) \quad (\alpha \rightarrow \infty).$$

Proof. Since

$$\begin{aligned} \left(\frac{m}{m+t} \right)^{\alpha+1} &\leq \left(\frac{z}{z+t} \right)^{\alpha+1}, \\ \frac{1}{m^{s+1}} &\leq \frac{2^{s+1}}{(m+1)^{s+1}} \leq \frac{2^{s+1}}{z^{s+1}} \end{aligned}$$

for $t > 0$, $m \in \mathbb{Z}_{>0}$, and $m \leq z \leq m+1$, we have

$$\begin{aligned} H_1(\alpha) &\leq 2^{s+1} \int_1^\infty \left(\frac{1}{z^s} \int_0^\infty \left(\frac{z}{z+t} \right)^{\alpha+1} (t - [t]) dt \right) \frac{dz}{z} \\ &\leq 2^{s+1} \int_0^\infty \left(\frac{1}{z^s} \int_0^\infty \left(\frac{z}{z+t} \right)^{\alpha+1} (t - [t]) dt \right) \frac{dz}{z} \\ &= 2^{s+1} \int_0^\infty \frac{z^{\alpha-s}}{(1+z)^{\alpha+1}} dz \int_0^\infty \frac{t - [t]}{t^s} dt \\ &= 2^{s+1} B(\alpha+1-s, s) \int_0^\infty \frac{t - [t]}{t^s} dt, \end{aligned}$$

where B is the beta function. Since the integral

$$\int_0^\infty \frac{t - [t]}{t^s} dt$$

is convergent and

$$B(\alpha+1-s, s) = O\left(\frac{1}{\alpha^s}\right),$$

we have the result. □

Lemma 2.4. *Assume that $s \in \mathbb{R}$ and $1 < s < 2$. Then, for $\alpha \in \mathbb{R}_{>1}$, we have*

$$H_2(\alpha) = O\left(\frac{1}{\alpha^{s+1}}\right) \quad (\alpha \rightarrow \infty).$$

Proof. Since $\log x \leq x - 1$ for $x \geq 1$, we have

$$\begin{aligned} H_2(\alpha) &\leq \sum_{0 < m} \frac{1}{m^{s+1}} \int_0^\infty \left(\frac{m+t}{m} - 1 \right) \left(\frac{m}{m+t} \right)^{\alpha+1} (t - [t]) dt \\ &= \sum_{0 < m} \frac{1}{m^{s+2}} \int_0^\infty \left(\frac{m}{m+t} \right)^{\alpha+1} t(t - [t]) dt. \end{aligned}$$

Since

$$\begin{aligned} \left(\frac{m}{m+t}\right)^{\alpha+1} &\leq \left(\frac{z}{z+t}\right)^{\alpha+1}, \\ \frac{1}{m^{s+2}} &\leq \frac{2^{s+2}}{(m+1)^{s+2}} \leq \frac{2^{s+2}}{z^{s+2}} \end{aligned}$$

for any $0 < t, m \in \mathbb{Z}_{>0}$ and $m \leq z \leq m+1$, we have

$$\begin{aligned} \frac{H_2(\alpha)}{2^{s+2}} &\leq \frac{1}{2^{s+2}} \sum_{0 < m} \frac{1}{m^{s+2}} \int_0^\infty \left(\frac{m}{m+t}\right)^{\alpha+1} t(t-[t]) dt \\ &\leq \int_1^\infty \left(\frac{1}{z^{s+2}} \int_0^\infty \left(\frac{z}{z+t}\right)^{\alpha+1} t(t-[t]) dt\right) dz \\ &\leq \int_0^\infty \left(\frac{1}{z^{s+1}} \int_0^\infty \left(\frac{z}{z+t}\right)^{\alpha+1} t(t-[t]) dt\right) \frac{dz}{z} \\ &= \int_0^\infty \frac{z^{\alpha-s-1}}{(1+z)^{\alpha+1}} dz \int_0^\infty \frac{t-[t]}{t^s} dt \\ &= B(\alpha-s, s+1) \int_0^\infty \frac{t-[t]}{t^s} dt. \end{aligned}$$

Similar to the proof of the previous lemma, we have the result. \square

Lemma 2.5. *Let $M > 0$. For $0 < \delta < \min(1, \sigma - 1) \in \mathbb{R}$, we have*

$$\frac{\partial}{\partial \alpha} \zeta(s - \alpha, \alpha) = O\left(\frac{1}{\Re(\alpha)^{1+\delta}}\right) \quad (\Re(\alpha) \rightarrow \infty, |\Im(\alpha)| < M).$$

Proof. Since

$$H_3(\alpha) = O\left(\frac{1}{\Re(\alpha)^2}\right) \quad (\Re(\alpha) \rightarrow \infty),$$

we need to show

$$(1) \quad H_1(\alpha) = O\left(\frac{1}{\Re(\alpha)^{1+\delta}}\right) \quad (\Re(\alpha) \rightarrow \infty)$$

and

$$(2) \quad \alpha H_2(\alpha) = O\left(\frac{1}{\Re(\alpha)^{1+\delta}}\right) \quad (\Re(\alpha) \rightarrow \infty, |\Im(\alpha)| < M).$$

Note that

$$\begin{aligned} |H_1(\alpha)| &\leq \sum_{0 < m} \frac{1}{m^{(1+\delta)+1}} \int_0^\infty \left(\frac{m}{m+t}\right)^{\Re(\alpha)+1} (t-[t]) dt, \\ |H_2(\alpha)| &\leq \sum_{0 < m} \frac{1}{m^{(1+\delta)+1}} \int_0^\infty \log\left(\frac{m+t}{m}\right) \left(\frac{m}{m+t}\right)^{\Re(\alpha)+1} (t-[t]) dt \end{aligned}$$

hold. Then, by Lemmas 2.3 and 2.4, we obtain (1) and (2). \square

Proposition 2.6. *Let $M > 0$ and $s \in \mathbb{C}$ with $s \neq 2$, $\sigma > 1$, and $|\Im(s)| < M$. For $0 < \delta < \min(1, \sigma - 1) \in \mathbb{R}$, we have*

$$|\zeta(s - n - 2, n + 2) - \zeta(-n, s + n)| \leq O\left(\frac{1}{n^{1+\delta}}\right).$$

Proof. From

$$\begin{aligned}\zeta(s-n-2, n+2) - \zeta(-n, s+n) &= \int_{n+s}^{n+2} \left(\frac{\partial}{\partial \alpha} \zeta(s-\alpha, \alpha) \right) d\alpha \\ &= \int_{n+s}^{n+2} O\left(\frac{1}{\Re(\alpha)^{1+\delta}} \right) d\alpha \\ &= \int_{n+s}^{n+2} O\left(\frac{1}{\min(n+2, n+\sigma)^{1+\delta}} \right) d\alpha\end{aligned}$$

by Lemma 2.5, we find the result. \square

Proof of Theorem 1.2. It follows from Proposition 2.6 that the sum $\sum_{n=0}^{\infty} (\zeta(s-n-2, n+2) - \zeta(-n, s+n))$ uniformly converges on any compact subsets of $\{s \in \mathbb{C} \mid s \neq 2, \sigma > 1\}$, and holomorphic on the region. By the identity theorem, this finishes the proof. \square

3. PROOF OF THEOREM 1.7

Definition 3.1. For a positive integer d , a non-negative integer D , and $s \in \mathbb{C}$, we define

$$\begin{aligned}F_d(D; s) &:= \sum_{D < m} \frac{1}{m^{s-d}} \sum_{m-D \leq x_1 \leq \dots \leq x_d \leq m} \frac{1}{x_1 \cdots x_d}, \\ F_d^{(1)}(D; s) &:= \sum_{D < t < m} \frac{1}{t^{s-d-1}(m-t)} \sum_{m-t \leq x_1 \leq \dots \leq x_d \leq m} \frac{1}{x_1 \cdots x_d}, \\ F_d^{(2)}(D; s) &:= \sum_{D < t < m} \frac{1}{t^{s-d-1}m} \sum_{m-t \leq x_1 \leq \dots \leq x_d \leq m} \frac{1}{x_1 \cdots x_d}, \\ F_d^{(3)}(D; s) &:= \sum_{D < t < m} \frac{1}{m^{s-d-1}(m-t)} \sum_{m-t \leq x_1 \leq \dots \leq x_d \leq m} \frac{1}{x_1 \cdots x_d}.\end{aligned}$$

Lemma 3.2. *If $\sigma > 1$, the function $F_d(D; s)$ converges absolutely. In addition, if $\sigma > d+2$, the functions $F_d^{(1)}(D; s)$, $F_d^{(2)}(D; s)$, and $F_d^{(3)}(D; s)$ converge absolutely. Moreover, we have*

$$(3) \quad \left| F_d^{(i)}(D; s) \right| \ll \sum_{D < t} \frac{(\log t)^{d+1}}{t^{\sigma-d-1}}$$

for $i = 1, 2, 3$, where the implicit constant does not depend on D and s .

Proof. The convergence of $F_d(D; s)$ is immediate. The convergence of $F_d^{(i)}(D; s)$ follows from (3). Since

$$\left| F_d^{(i)}(D; s) \right| \leq F_d^{(1)}(D; \sigma),$$

it is enough to prove (3) for $i = 1$ and $s \in \mathbb{R}_{>d+2}$. Write $F_d^{(1)}(D; s)$ as $A + B$ where

$$\begin{aligned}A &:= \sum_{D < t \leq m/2} \frac{1}{t^{s-d-1}(m-t)} \sum_{m-t \leq x_1 \leq \dots \leq x_d \leq m} \frac{1}{x_1 \cdots x_d}, \\ B &:= \sum_{\substack{D < t \\ m/2 < t < m}} \frac{1}{t^{s-d-1}(m-t)} \sum_{m-t \leq x_1 \leq \dots \leq x_d \leq m} \frac{1}{x_1 \cdots x_d}.\end{aligned}$$

Since

$$\sum_{m-t \leq x_1 \leq \dots \leq x_d \leq m} \frac{1}{x_1 \cdots x_d} \ll \frac{t^d}{(m-t)^d},$$

we have

$$\begin{aligned} A &\ll \sum_{D < t \leq m/2} \frac{1}{t^{s-2d-1}(m-t)^{d+1}} \ll \sum_{D < t \leq m/2} \frac{1}{t^{s-2d-1}m^{d+1}} \\ &\ll \sum_{D < t} \frac{1}{t^{s-d-1}}. \end{aligned}$$

We also have

$$B \ll \sum_{\substack{D < t \\ m/2 < t < m}} \frac{(\log m)^d}{t^{s-d-1}(m-t)} \ll \sum_{D < t < m < 2t} \frac{(\log m)^d}{t^{s-d-1}(m-t)}.$$

Thus, putting $n = m - t$, we get

$$B \ll \sum_{\substack{D < t \\ 1 \leq n < t}} \frac{(\log(2t))^d}{t^{s-d-1}n} \ll \sum_{D < t} \frac{(\log(2t))^d \log t}{t^{s-d-1}}.$$

This finishes the proof. \square

We need Lemmas 3.3 and 3.4 to prove Theorem 1.7.

Lemma 3.3. *If $\sigma > d + 2$, we have*

$$F_{d+1}(D; s) = F_d^{(1)}(D; s) - F_d^{(2)}(D; s) - F_d^{(3)}(D; s).$$

Proof. By the previous lemma, $F_d^{(1)}(D; s)$, $F_d^{(2)}(D; s)$, and $F_d^{(3)}(D; s)$ converge absolutely. Since

$$\begin{aligned} F_d^{(1)}(D; s) &= \sum_{D < t} \frac{1}{t^{s-d-1}} \sum_{0 < x_0 \leq x_1 \leq \dots \leq x_d \leq x_0+t} \frac{1}{x_0 x_1 \cdots x_d} \\ &= \sum_{D < t} \frac{1}{t^{s-d-1}} \sum_{\substack{0 < x_0 \leq x_1 \leq \dots \leq x_d \\ x_d \leq x_0+t}} \frac{1}{x_0 x_1 \cdots x_d}, \\ F_d^{(2)}(D; s) &= \sum_{D < t} \frac{1}{t^{s-d-1}} \sum_{0 < x_{d+1}-t \leq x_1 \leq \dots \leq x_d \leq x_{d+1}} \frac{1}{x_1 \cdots x_d x_{d+1}} \\ &= \sum_{D < t} \frac{1}{t^{s-d-1}} \sum_{\substack{0 < x_0 \leq x_1 \leq \dots \leq x_d \\ x_d > t \\ x_d \leq x_0+t}} \frac{1}{x_0 x_1 \cdots x_d}, \\ F_d^{(3)}(D; s) &= \sum_{D < t < N} \frac{1}{N^{s-d-1}(N-t)} \sum_{N-t \leq x_1 \leq \dots \leq x_d \leq N} \frac{1}{x_1 \cdots x_d} \\ &= \sum_{D < N} \frac{1}{N^{s-d-1}} \sum_{\substack{0 < x_0 \leq x_1 \leq \dots \leq x_d \leq N \\ x_0 < N-D}} \frac{1}{x_0 x_1 \cdots x_d} \\ &= \sum_{D < t} \frac{1}{t^{s-d-1}} \sum_{\substack{0 < x_0 \leq \dots \leq x_d \\ x_d \leq t \\ x_0 < t-D}} \frac{1}{x_0 \cdots x_d}, \end{aligned}$$

we have

$$\begin{aligned} & F_d^{(1)}(D; s) - F_d^{(2)}(D; s) - F_d^{(3)}(D; s) \\ &= \sum_{D < t} \frac{1}{t^{s-d-1}} \sum_{t-D \leq x_0 \leq x_1 \leq \dots \leq x_d \leq t} \frac{1}{x_0 x_1 \dots x_d} \\ &= F_{d+1}(D; s). \end{aligned}$$

Hence we find the result. \square

Lemma 3.4. *Let a be a non-negative integer and b an integer with $b \geq 2$. If $\sigma > b, \sigma + \sigma_a > 1 + b, \dots, \sigma + \sigma_a + \dots + \sigma_1 > a + b$, then $G_{a,b}(s_1, \dots, s_a; s)$ is well-defined and equal to*

$$(4) \quad \sum_{0 < m_1 < \dots < m_a < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m^{s-b+1}} \sum_{m-m_a \leq x_1 \leq \dots \leq x_{b-1} \leq m} \frac{1}{x_1 \dots x_{b-1}}.$$

Here we understand that $m - m_a = m$ if $a = 0$.

Proof. Note that (4) converges absolutely. The proof is by induction on b . We can prove the case $b = 2$ in the similar manner as in the proof of Theorem 1.2 for $\sigma > 2$. For $b \geq 3$, by the induction hypothesis, we have

$$\begin{aligned} & G_{a,b}(s_1, \dots, s_a; s) \\ &= \sum_{n=0}^{\infty} G_{a+1,b-1}(s_1, \dots, s_a, s-n-b; n+b) - \sum_{n=0}^{\infty} G_{a+1,b-1}(s_1, \dots, s_a, -n; s+n) \\ &= \sum_{n=0}^{\infty} \sum_{0 < m_1 < \dots < m_{a+1} < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m_{a+1}^{s-n-b} m^{n+2}} \sum_{m-m_{a+1} \leq x_1 \leq \dots \leq x_{b-2} \leq m} \frac{1}{x_1 \dots x_{b-2}} \\ &\quad - \sum_{n=0}^{\infty} \sum_{0 < m_1 < \dots < m_{a+1} < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m_{a+1}^{-n} m^{s+n-b+2}} \sum_{m-m_{a+1} \leq x_1 \leq \dots \leq x_{b-2} \leq m} \frac{1}{x_1 \dots x_{b-2}}. \end{aligned}$$

Then we have

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{0 < m_1 < \dots < m_{a+1} < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m_{a+1}^{s-n-b} m^{n+2}} \sum_{m-m_{a+1} \leq x_1 \leq \dots \leq x_{b-2} \leq m} \frac{1}{x_1 \dots x_{b-2}} \\ &= \sum_{0 < m_1 < \dots < m_{a+1} < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m_{a+1}^{s-b+1}} \left(\frac{1}{m-m_{a+1}} - \frac{1}{m} \right) \sum_{m-m_{a+1} \leq x_1 \leq \dots \leq x_{b-2} \leq m} \frac{1}{x_1 \dots x_{b-2}} \\ &= \sum_{0 < m_1 < \dots < m_a} \frac{1}{m_1^{s_1} \dots m_a^{s_a}} \left(F_{b-2}^{(1)}(m_a; s) - F_{b-2}^{(2)}(m_a; s) \right) \end{aligned}$$

and

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{0 < m_1 < \dots < m_{a+1} < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m_{a+1}^{-n} m^{s+n-b+2}} \sum_{m-m_{a+1} \leq x_1 \leq \dots \leq x_{b-2} \leq m} \frac{1}{x_1 \dots x_{b-2}} \\ &= \sum_{0 < m_1 < \dots < m_{a+1} < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m^{s-b+1} (m-m_{a+1})} \sum_{m-m_{a+1} \leq x_1 \leq \dots \leq x_{b-2} \leq m} \frac{1}{x_1 \dots x_{b-2}} \\ &= \sum_{0 < m_1 < \dots < m_a} \frac{1}{m_1^{s_1} \dots m_a^{s_a}} F_{b-2}^{(3)}(m_a; s). \end{aligned}$$

Since the series

$$\sum_{0 < m_1 < \dots < m_a} \frac{1}{m_1^{s_1} \dots m_a^{s_a}} F_{b-2}^{(i)}(m_a; s) \quad (i = 1, 2, 3)$$

are absolutely convergent by Lemma 3.2, we see that $G_{a,b}(s_1, \dots, s_a; s)$ is also absolutely convergent, and furthermore, we have

$$\begin{aligned} & G_{a,b}(s_1, \dots, s_a; s) \\ &= \sum_{0 < m_1 < \dots < m_a} \frac{1}{m_1^{s_1} \dots m_a^{s_a}} \left(F_{b-2}^{(1)}(m_a; s) - F_{b-2}^{(2)}(m_a; s) - F_{b-2}^{(3)}(m_a; s) \right) \\ &= \sum_{0 < m_1 < \dots < m_a} \frac{1}{m_1^{s_1} \dots m_a^{s_a}} F_{b-1}(m_a; s) \\ &= \sum_{0 < m_1 < \dots < m_a < m} \frac{1}{m_1^{s_1} \dots m_a^{s_a} m^{s-b+1}} \sum_{m-m_a \leq x_1 \leq \dots \leq x_{b-1} \leq m} \frac{1}{x_1 \dots x_{b-1}} \end{aligned}$$

from Lemma 3.3. Hence the lemma is proved. \square

Proof of Theorem 1.7. From Lemma 3.4, we have

$$\begin{aligned} G_{0,b}(s) &= \sum_{0 < m} \frac{1}{m^{s-b+1}} \sum_{m \leq x_1 \leq \dots \leq x_{b-1} \leq m} \frac{1}{x_1 \dots x_{b-1}} \\ &= \zeta(s). \end{aligned} \quad \square$$

ACKNOWLEDGEMENTS

This work was supported by JSPS KAKENHI Grant Numbers JP18J00982, JP18K13392, and JP19K14511.

REFERENCES

- [1] S. Akiyama, S. Egami, and Y. Tanigawa, *Analytic continuation of multiple zeta-functions and their values at non-positive integers*, Acta Arithmetica **98** (2001), 107–116.
- [2] A. GRANVILLE, A decomposition of Riemann's zeta-function, Analytic number theory (Kyoto, 1996), London Math. Soc. Lecture Note Ser., vol. 247, Cambridge Univ. Press, Cambridge (1997), 95–101.
- [3] K. Matsumoto, *On the analytic continuation of various multiple zeta-functions*, in Number Theory for the Millennium (Urbana, 2000), Vol. II, M. A. Bennett et. al. (eds.), A. K. Peters, Natick, MA, (2002), 417–440.
- [4] K. Matsumoto, *Analytic properties of multiple zeta-functions in several variables*, in Number Theory: Tradition and Modernization, by W. Zhang and Y. Tanigawa, Springer (2006), 153–173.
- [5] K. Matsumoto and H. Tsumura, *Functional relations for various multiple zeta-functions*, Analytic Number Theory (Kyoto, 2005), RIMS Kôkyûroku no.1512 (2006), 179–190.
- [6] J. Zhao, *Analytic continuation of multiple zeta functions*, Proc. Amer. Math. Soc. **128** (2000), 1275–1283.

(Minoru Hirose) INSTITUTE FOR ADVANCED RESEARCH, NAGOYA UNIVERSITY, FURO-CHO, CHIKUSA-KU, NAGOYA, 464-8602, JAPAN

Email address: `minoru.hirose@math.nagoya-u.ac.jp`

(Hideki Murahara) THE UNIVERSITY OF KITAKYUSHU, 4-2-1 KITAGATA, KOKURAMINAMI-KU, KITAKYUSHU, FUKUOKA, 802-8577, JAPAN

Email address: `hmurahara@mathformula.page`

(Tomokazu Onozuka) INSTITUTE OF MATHEMATICS FOR INDUSTRY, KYUSHU UNIVERSITY 744, MOTOOKA, NISHI-KU, FUKUOKA, 819-0395, JAPAN

Email address: `t-onozuka@imi.kyushu-u.ac.jp`